Problems of analysis
1. Note the problem of representation of tone that is used in inflection. 

The =2 to express 1st person

After stems that end in 1, the overt clitic =yu1 is used.

After stems that end in 5, the tone 2 is added


yu3ba5

father


yu3ba5=2
my father

The actual realization of the final tonal sequence is 5=2

But, if the final tone is 3, then it is realized as 2.


ku3xi3

comer


ku3xi2

yo como

This is pronounced [ku3xi2] and not [ku3xi32].

If writing, then pershaps write 5=2 for the first and simply 2 for the second, parsing out with a parser to 3-2

Note that with the completive 1 it is not possible to write 1= before the stem. Thus for this case a parser must be used.

Thus xi13xi3   completivo de comer

cannot be written 1=xi3xi3  

perhpas xi1=3xi3 but this would still require analysis to separate out completive nd the stem.

